XYZw=95.0443 , 100.0 , 108.89 B Parame:

A=(@-a)Y 40 ter: Y
B=(b-byY

a=a, [xiy] 92

b=b, [/ &

ap=1

b,=-0,4 6

n=D65 ) ) pes P\o1 /
LABCab 85 40 2g 40
Name and chromaticity

Rosree X=0,64 y=0,33

Gyerop X=0,30 y=0,60 2 , 28

By.srea X=0,18 y=0,06

Device and elementary coloursY,,=10!
of the sSRGBcolour space for D65

in chromatic value diagram (A, B)

-40

1-000030-L0O TE441-5A_1




XYZw=96.4228 , 100.0 , 82.49 B
A=@-a)Y
B=(b-by)Y
a=ay[xly]
b=b, [z
=1

b, =-0,4

n = D50

Parame:
ter: Y

LABCab 85 4074 40
Name and chromaticity

Rysrea X=0,64 y=0,33
Gysree X=0,30 y=0,60
By.srea X=0,18 y=0,06
Device and elementary coloursY,, =100
of the sSRGBcolour space for D50
in chromatic value diagram (A, B)

1-000030-L0O TE441-5A_1




XYZw=100.932 , 100.0 , 64.68
A=@-a)Y
B=(b-by)Y
a=ay[xly]
b=b, [z
=1

b, =-0,4

n = P40

Parame:
ter: Y

LABCab 85
Name and chromaticity
Ry sree X=0,64 y=0,33
GgsreB X=0,30 y=0,60
Bg,sree X=0,18 y=0,06
Device and elementary coloursY,,=10!

27 @

of the sSRGBcolour space for P40 T-40
in chromatic value diagram (A, B)
1-000030-L0 TE441-5A_1




XYZw=109.849 , 100.0 , 35.58 B Parame:
A=@-a)Y 140 ter: Y
B=(b-by)Y
a=ay [xly]
b=b, [z} 1
=1
b, =-0,4 A
n=A00 59 . 2298A00
{ i YT 1o 49
LABCab 85
Name and chromaticity
Rysrea X=0,64 y=0,33 1
Gg,sree *x=0,30 y=0,60
Bg.sree X=0,18 y=0,06 27 @
Device and elementary coloursY,,=10!
of the sSRGBcolour space for AOO T-40

in chromatic value diagram (A, B)

1-000030-L0O

TE441-5A_1




XYZw=100.001 , 100.0, 100.0

A=@-a)Y
B=(b-by)Y
a=ay[xly]
b=b, [z
=1

b, =-0,4

n =EO00

67

Parame:
ter: Y

LABCab 85

Name and chromaticity

Ry sree X=0,64 y=0,33
GgsreB X=0,30 y=0,60
Bg,sree X=0,18 y=0,06
Device and elementary coloursY,,=10!

of the sSRGBcolour space for EOO T-40
in chromatic value diagram (A, B)
1-000030-L0 TE441-5A_1




XYZw=98.0718 , 100.0, 118.22 B Parame:

A=@-a)Y 140 ter: Y

B=(-by)Y 92

a=ay [xly] 69 )

b=b, [z [61:]

ay i 1 66

b,=-0,4 A

n=C00 \ Acoo To\22 £
-40 N 40

LABCab 85

Name and chromaticity

Ry sree X=0,64 y=0,33 @

Gy,sree X=0,30 y=0,60 20

Bg,sree X=0,18 y=0,06 7

Device and elementary coloursY,,=10!

of the sSRGBcolour space for CO0 T-40

in chromatic value diagram (A, B)

1-000030-L0O

TE441-5A_1




XYZw=102.067 , 100.0 , 81.06 B
A=@-a)Y 4
B=(b-by)Y
a=ay[xly]

b=b, [z

=1 65
b,=-0,4

n = P00 L 66

Parame:
ter: Y

LABCab 85
Name and chromaticity
Ry sree X=0,64 y=0,33

Gqgsree X=0,30 y=0,60 27 @

By.srea X=0,18 y=0,06
Device and elementary coloursY,,=10!

F-40

of the sSRGBcolour space for POO b
in chromatic value diagram (A, B)

1-000030-L0O

TE441-5A_1




XYZw=97.9332 , 100.0, 118.95 B Parame:

A=@-a)Y 140 ter: Y

B=(b-by)Y 92

a=ay [xly] 69 o)

b=b, [z [}

&=1 66

b,=-0,4 A

n=Q00 ; 20 1o 22 ;
-40 40

LABCab 85

Name and chromaticity

Ry sree X=0,64 y=0,33 ®

Gy,sree X=0,30 y=0,60 20

Bysree X=0,18 y=0,06 7

Device and elementary coloursY,,=10!

of the sSRGBcolour space for Q00 T -40

in chromatic value diagram (A, B)

1-000030-L0O

TE441-5A_1




XYZw=94.8136 , 100.0, 107.33 B Parame:

A=(@-a)Y 40 ter: Y
B=(b-hy)Y

a=a, [xy] 92

b =by [z 71

a,=1

b,=-0,4 6!

n = D65 ) , D65 B\21 7
LABCab 85 40 7g 40
Name and chromaticity

Rysrea X=0,64 y=0,33

Ggsres X=0,30 y=0,60 2 . 28

By.srea X=0,18 y=0,06

Device and elementary coloursY,,=10!
of the sSRGBcolour space for D65

in chromatic value diagram (A, B)

-40

1-001030-LO TE441-5A_1




XYZw=96.7256 , 100.0, 81.41 B
A=@-a)Y
B=(b-byY
a=ay[xhy]

b=by [zA

ap=1 69
b,=-0,4

n = D50 , 66 )
-40 5, 40

Parame:
ter: Y

LABCab 85
Name and chromaticity

Rysrea X=0,64 y=0,33
Gysree X=0,30 y=0,60
By.srea X=0,18 y=0,06
Device and elementary coloursY,, =100
of the sSRGBcolour space for D50
in chromatic value diagram (A, B)

-40

1-001030-LO TE441-5A_1




XYZw=101.751, 100.0 , 64.44 B
A=@-a)Y 4
B=(b-by)Y
a=ay[xly]

b=b, [z

=1

b,=-0,4 65
n = P40

Parame:
ter: Y

:

106
LABCab 85 %
Name and chromaticity
Ry sree X=0,64 y=0,33
Gg,sree *x=0,30 y=0,60

Bysree X=0,18 y=0,06 7@

Device and elementary coloursY,,=10!

F-40

of the sSRGBcolour space for P40 b
in chromatic value diagram (A, B)

1-001030-LO

TE441-5A_1




XYZw=111.15,100.0, 35.19 B
A=@-a)Y 4
B=(b-by)Y
a=ay[xly]
b=b, [z} i
=1

b, =-0,4
n =A00

LABCab 85
Name and chromati

Rysrea X=0,64 y=0,33 i
GgsreB X=0,30 y=0,60

Bysree X=0,18 y=0,06 27@
Device and elementary coloursY,,=10!

Parame:
ter: Y

F-40

of the sSRGBcolour space for AOO b
in chromatic value diagram (A, B)

1-001030-LO

TE441-5A_1




XYZw=99.9908 , 99.9999, 100.0 B

A=@-a)Y
B=(b-by)Y
a=ay[xly]
b=b, [z
=1

b, =-0,4

n =EO00

67

Parame:
ter: Y

LABCab 85

Name and chromaticity

Ry sree X=0,64 y=0,33
GgsreB X=0,30 y=0,60
Bg,sree X=0,18 y=0,06
Device and elementary coloursY,,=10!

of the sSRGBcolour space for EOO T-40
in chromatic value diagram (A, B)
1-001030-L0 TE441-5A_1




XYZw=97.2866 , 100.0 , 116.14 B Parame:

A=(@-a)Y ter: Y

B=(b-by)Y

a=a; [x}] 70

b=b, [z

=1

by = -0,4 66

n=C00 , 2 7

+ D ¥ »

-40 40

LABCab 85 77

Name and chromaticity

Ry sree X=0,64 y=0,33 ®

Gasros ¥=0,30 y=0,60 29

By.srea X=0,18 y=0,06 7

Device and elementary coloursY,,=10!

of the sSRGBcolour space for CO0 T-40

in chromatic value diagram (A, B)

1-001030-LO

TE441-5A_1




XYZw=102.375, 100.0, 81.25 B
A=@-a)Y 4
B=(b-by)Y
a=ay[xly]

b=b, [z

=1 65
b,=-0,4

n = P00 , 66

Parame:
ter: Y

20 A

LABCab 85
Name and chromaticity
Ry sree X=0,64 y=0,33

Gqgsree X=0,30 y=0,60 27 @

By.srea X=0,18 y=0,06
Device and elementary coloursY,,=10!

F-40

of the sSRGBcolour space for POO b
in chromatic value diagram (A, B)

1-001030-LO

TE441-5A_1




XYZw=97.65 , 100.0 , 118.42 B Parame:
Az(@-ay)Y 0 fer: ¥
B=(b-b,)Y 92

a=ay [x/y] 69

b=b, [z/
a=1
b,=-0,4
n = Q00

66

:
-40
LABCab 85 77
Name and chromaticity
Rysrea X=0,64 y=0,33
Gg,sree *x=0,30 y=0,60
By.srea X=0,18 y=0,06
Device and elementary coloursY,,=10!
of the sSRGBcolour space for Q00

in chromatic value diagram (A, B)

30

-40

1-001030-LO TE441-5A_1




